TaKaRa Clontech TakaRa cellartis
ZER. EHBRAISMIRE

CER
ds DNA 10 kb = 6.60x 10° Dalton 1 OD2s0 nm= 50 pg
10 kb = 3.30x10° Dalton _
ss DNA (ANMPE54F8 = 330 Dalton) 1 OD26o nm= 33 pg
10 kb = 3.45%10° Dalton _
RNA (NMPTE494)F8 = 345 Dalton) 1 OD260o nm= 40 pg
CEAR
BSA : 1 ODzsorm= 167 mg (1 mg/ml = 0.6 ODzgo nm)
[EELFIF2FE = 110 Dalton
(B8 < EB R

1 kb DNA = 37 k BERIEH
10 k 1&/RIIZEH = 273 Base DNA

LR R E = BEERRE Y REL (pH7.0)

dNTP € 260 (X107
dATP 15.2
dCTP 7.4
dGTP 11.5
dTTP 8.3
CIRZHERE =BT E L R8T (pH7.0)
NTP € 260 (x1079)
ATP 15.2
CTP 7.2
GTP 115
UTP 9.9

LIEMZEES (DNA) 1 ODzso mBUEERENIGE R

Base#{ YN FE FYEEE (pg) SEYEE/REN (nmol)
5 1,650 33 20.0
10 3,300 33 10.0
15 4,950 33 6.7
20 6,600 33 5.0
25 8,250 33 4.0
30 9,900 33 3.3

NBELEZEERNEARE, FEASHREIEXRE, RUTLARTE.
330 (IZEELRITIYNF=) x Basel
(152xA%) + (7.4xCHE) + (11.5xGEy) + (83xTH)
1
(15.2x A% + (7.4xCH) + (11.5xGH) + (8.3xTH)

BEH (pg) =

BE/RE (umol) =



